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Frx
= g & B &t E i = & b fE z B £ B 8
o ® ARE® (M) (M) (M) (ke)
WA 31.8 ERE 31.8 972 — 864 15[ %Y
IZALA 14.5 = I 4.2 — 2,376 — 0] A M
ZIES5 1.8 BRE 1.5 — 1,350 - 2 S
ZIES5 N 0.2 2,187 — 2,106 3 A L
jiyg 0.2 A - 1,080 - 5
[E<ELY 100.8 ERE 100.8 1,620 1,458 1,404 15 A 6
HTE 2.1 BRE 0.5 1,728 1,728 1512 4f A M
ZEDOH 5.7 BERE 2.7 1,728 1,728 1512 4f A M
FrRY 223.6 ERE 199.5 1,620 1,404 1,296 0] A 8
Fry 2 [ - 130 — 005] A L
IE5NAZES 46 2 [ 2.7 2,916 — 2,592 6] A L
hE 10.8 BRE 6.7 1,620 1,296 1,296 3l A L
Ch¥E 2.2 i B 1.6 2,592 — 1,944 3 L
_hE g 0.2 — 2,624 — 3
125 3.6 ElG 1.1 3,780 2,160 2,160 5] vay
R 1.4 2 1.1 3,456 — 3,240 0] A L
T RAINSHR 1.6 B A 1.3 194 — 173 01| vay M
HhI757— 0.2 EEES 0.2 - 3,024 — 5] A 6
Joyal)— 15.0 BE X 4.0 - 2,268 — 6] A 20
LARR 43.9 E & 32.1 1512 1,188 918 10 12
FoTYA 2.2 BRE 1.8 1,944 — 1,404 4f A L
5l 315 BRE 28.4 1,836 1,404 1,296 5/ A L
=p5Y ElG 3.1 2,160 1,944 1,836 5] A M
ANESSES) 16.6 —9o 10.1 — 2,376 — 10 vay 5
ANESSES) BRE 6.5 1,944 1,944 1,728 0] A 5
Y 5.4 EES 48 2,484 2,160 1,944 5/ A L
HY BRE 0.4 - 1,728 — 4l A LL
k< 26.3 BRE 18.9 1,404 1,080 1,080 4f A M
k< RS 6.4 1,404 - 1,080 PR 20
I=kTh 13.7 BRE 12.4 119 97 86 02 A M
= = I 0.9 92 — 86 02 A L
E—<> 16.0 BERE 15.4 4,320 — 3,996 8 A L
E5EACL 0.4 =l 0.4 2,160 — 1,728 6 L
T35 0.5 BRE 0.4 281 238 216 0.3
[2H5Y 2.8 BRE 2.7 2,592 1,620 1,620 3l A L
SPVAITFA 0.8 BRE 0.8 4,104 2,160 2,160 2l A
SPZAES 0.2 X & 0.1 1,836 — 1,728 1 A L
ZTHEDH 0.2 BRE 0.2 3,024 - 2,160 4f A
MHALE 3.6 EES 3.6 2214 2,160 1,836 5 M
[ES AT 14.1 BRE 11.0 1,188 972 648 10
[ECTRYNS BRE - 756 — 10
IEhLs E 5 3.2 2,268 2,160 2,106 10 va9 L
IEhLe E & 2,160 — 2,052 10l va9 LL
&L
AL 1.0 5 # 0.5 - 4,320 — 10 B LL
f=FEh&E 48.9 JtigE - - — PR
f=FEh&E = B 48.9 3,456 2,808 2,808 20 Va9 L
IZAIZK 1.8 ol 1.2 5,184 — 4536 10 4L
5oELD 3.2 BRE 3.2 5,400 5,076 4,320 0] A M
ELLV=T 2.0 BERE 0.2 — 119 — 0.1 A L
ELLV=T = 0.9 130 97 97 0.1 A M
ZDEET 47 2 1.4 39 36 35 0.1 A
LHL 1.8 2 [ 1.4 97 86 86 0.2
S ER T 666.1
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o ® ARE® (M) (M) (M) (ke)
HED2HAMA 1.5 BRE 15 1,620 — 1512 10{ 7hv2 L
LEY 1.4 TA)H 1.4 10,044 9,720 9,180 17 115
INLUVT 1.9 TA)H 1.9 8,640 8,100 6,804 17 1133
L7y 0.3 TA)H 0.3 6,804 6,588 6,480 15 48
BHRE 0.3 =0 0.3 — 302 — 0.3 4
YATE 13.3
PEPE=IY 3.9 5 # 3.9 3,456 2,700 2,700 10[ Lvy
AL 8.0 5 & 8.0 - 3,996 — 10[ wILA 36
UhH 0.3 BRE 0.3 562 — 540 04 A L
3HET 0.1
3% 0.1 2 [ 0.1 810 756 756 028 ¢ L
58 BRE - 454 — 42| B S
SESE 0.5
W52 11.3 ERE 9.5 378 302 270 025 A LL
AOVEF 7.0
7—ILA 1.5 BRE 1.4 — 1,944 — 2 1
7—ILA % [ 0.1 1,296 1,296 1,188 1] A 6
FDAOY 5.5 BERE 4.1 2,700 — 2,646 5 A L
ERRYOY1s 6.5
ERRY 4.6 EES 4.6 7,344 — 7,128 16| va9 3L
CEETLH 1.9 BRE 1.7 — 5,400 — 150 A 4
INFF 14.4 EYEY 14.1 3,996 3,564 3,456 15
NAFyFTIL 8.7 EYEY 8.7 3,024 2484 2,376 10 8
FoA4T)LY 3.0 —oT 3.0 4,860 — 4223 5.8 30
RERET 76.7




